Lesson 11 (even problems must be solved in class, odd
examples must be solved at home)

Find the derivatives.

L] y=—é—tan2 x. Ans. y' =tanxsec?x. 52. y=Incosx. Ans. y'=—tanx.
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71. y=xIn x. Ans. y'=Inx—+1. 72. y=In%x.

74. y=In(Inx). Ans. y'=xlnx
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Ans. y’'=tandx. 82. y=e9%. Ans. y’'=ae%%. 83. y=et*+5 Ans. y' —=4eix+8,
84. y=a*. Ans. y' =2xa**Ina. 85. y=T7%*+2%_ Aps. y' =2 (x4 1)7¥*+2x1n7,
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Ans. y'= ("-I—l)2 92, y=In

88.r=a". Ans.r'=ad ' Ilna. 89.r=aln 6. Ans.
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Ans.y' =e* (1—2x—x?). 9L y=2xﬁ- ]-e:e—x.
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Ans. y' = TTev " 93. y 5 \€ e . Ans. y'= 5 \€ +e ;
94, y=esinx, Ans. y'=esin x cos x. 95. y—=atan nx, Ans. y’ = natan nxsec? nx In a.

96. y=—ecos xsin x. Ans. y' =ecos x (cos x—sin? x). 97. y=-e*Insin x.
Ans. y'=e* (cot x}Insin x). 98, y=xnesinx, Ans. y’ = xn—lesin x (n 4 x cos x).



